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1.  In an effort to determine what percentage of Americans live of farms, a polling organization selects a random sample of 500 Americans and computed a 95% confidence interval.  If you decreased the sample size to 400 persons, how would the margin of error of your interval change?


(a) The interval would increase in width

(b) The interval would decrease in width


(c) The width of the interval would not change

(d) The answer cannot be determined
2.  A 1993 LA Times poll of 1703 adults revealed that only 17% thought the media was doing a “very good” job.  With what degree of confidence can the newspaper say that 
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of adults believe the media is doing a “very good” job.


(a) 72.9%

(b) 90.0%

(c) 95.0%

(d) 97.2%
(e) 98.6%

3. What is the critical t-value for finding a 95% confidence interval estimate from a sample of 20 observations?


(a) 1.725

(b) 1.729

(c) 2.086

(d) 2.093

(e) 1.96

4.  You want to compute a 95% confidence interval for a population mean.  Assume that the population standard deviation is known to be 10 & the sample size is 50. The value of 
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 to be used in this calculation is

(a) 1.645

(b) 2.009

(c) 1.960

(d) .8289

(e) .9352

5.  Which of the following statements are true?

     I.   Like the normal, t-distributions are always symmetric.

     II.  Like the normal, t-distributions are always mound shaped.

     III.  The t-distributions have more spread than the normal, that is, the have more probability in the tails 

and less in the center than the normal.


(a) II only 
(b) I and II

(c) I and III

(d) II and III

(e) I, II and III

6. Acute renal graft rejection can occur years after the graft.  In one study, 21 patients showed such late acute rejection when the ages of their grafts (in years) were 9, 2, 7, 1, 4, 7, 9, 6, 2, 3, 7, 6, 2, 3, 1, 2, 3, 1, 1, 2, and 7 respectively.  Establish a 90% confidence interval estimate for the ages of renal grafts that undergo late acute rejection.
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7.  You want to estimate the mean SAT score for a population of students with a 90% confidence interval.  Assume that the population standard deviation is 
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.  If you want the margin of error to be approximately 10, the least sample size needed is

(a) 16


(b) 271


(c) 38


(d) 1476
(e)  None of these
8.  The number of accidents per day at a large factory is noted for each of 64 days with 
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s = 1.52.  With what degree of confidence can we assert that the mean number of accidents per day at the factory is between 3.20 and 3.96?


(a) 48%


(b) 63%

(c) 90%


(d) 95%

(e) 99%
9.  In general, how does doubling the sample size change the confidence interval size?


(a) Doubles the interval size


(b) Halves the interval size


(c) Multiplies the interval size by 1.414
(d) Divides the interval size by 1.414


(e) This question cannot be answered without knowing the sample size

10.  A researcher is interested in estimating the mean blood alcohol content (BAC) of people arrested for driving under the influence.  The sample consists of 250 individuals with a mean BAC of .145.  Based on past data, the researcher assumes a population standard deviation of .065.  What is the margin of error for a 90% confidence interval in this scenario?

(a) .0041

(b) .0068

(c) .0170

(d) .0080
(e) Not enough info

11.  A confidence interval estimate is determined from the GPA’s of a SRS of n students.  Which of the following will result in a smaller margin of error?

     I.    A smaller confidence interval
 II.  A smaller sample standard deviation     III. A smaller sample size


(a) I and II



(b) I and III


(c) II and III 



(d) I, II and III


(e) None of the above gives the complete set of true responses

12. Suppose (25, 30) is a 90% confidence interval estimate for a population mean 
[image: image10.wmf]m

.  Which of the following are true statements?

     I.   There is a .90 probability that 
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is between 25 and 30

     II.  If 100 random samples of the given size are picked and a 90% confidence interval estimate is calculated 

           from each, then 
[image: image12.wmf]m

will be in 90 of the resulting intervals

     III. If 90% confidence intervals are calculated from all possible samples of the given size, 
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 will be in 90% 
of these intervals


(a) I and II




(b) I and III


(c) II and III




(d) I, II and III


(e) None of the above gives the complete set of true responses

13.  An accounting firm measures the blood pressures of 10 of its certified public accountants (CPA’s) before and during the spring 1996 tax season.  The systolic blood pressure for the 10 individuals, designated as A through J were as follows:

	
	A
	B
	C
	D
	E
	F
	G
	H
	I
	J

	Before
	110
	124
	98
	105
	115
	120
	118
	110
	123
	95

	During
	115
	126
	97
	108
	115
	124
	119
	113
	121
	96


Is this evidence that blood pressure rises during tax season? Use a confidence interval to justify your answer.
14. Fifty plots of land are planted with a new variety of corn.  The average yield for those plots is 130 per acres.  Assume that the population standard deviation is 10.  


a)  Find a 95% confidence interval for the mean yield 
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for this variety of corn


b)  Would a 99% confidence interval for 
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 be wider or narrower that your answer in part a)?  

How much wider or narrower?

15.  Briefly describe when you would use the t-interval and when you would use the z-interval.
16.  Suppose you want to conduct a poll.  Using a 95% confidence level, find the number of people to include in your sample to ensure a width of your confidence interval of no more than .06.

17.  Of the first 50 free throws attempted by Carla during the current basketball season, 42 were successful.

a)  Find a 90% confidence interval for the probability of Carla making a free throw and interpret results.
b) Interpret what “90% confidence level” means.
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